CHAPTER 16

Exercises for Section A

1.
What is an inferential explanation?

2.
Give an example of an explanation you reckon is good that isn’t inferential.

3.
What do we call a request for an explanation of a claim that is not highly plausible?

4.
What do we mean when we say an explanation is circular?

5.
Why is a good explanation not a good argument?

6.
What are the necessary conditions we’ve seen for an inferential explanation to be good?

7.
a.
What is a causal explanation?


b.
When is a causal explanation good?

8.
Why do we say that an untestable claim is a bad explanation?

9.
a.
Give an example of an explanation you recently offered as an excuse.


b.
What’s the difference between an explanation and an excuse?

10.
Bring to class examples of the following that you have encountered or heard.  Exchange 
with a classmate to see if he or she can decide which is which.


a.
A causal explanation.


b.
A good inferential explanation that is not causal.


c.
A circular explanation.


d.
An explanation that answers the wrong question.

For the exercises below, fill in the blanks.

11.
Zoe:
How did Tom get strep throat?


Dick:
Suzy had it last week.


Inferential explanation?  (yes or no)


Claim being explained:


Explanatory claims:


Causal?  (yes or no)


Is it a good explanation?

12.
Tom:
Why did the match ignite?


Harry:
Because I struck it on the matchbook.


Inferential explanation?  (yes or no)


Claim being explained:


Explanatory claims


Causal?  (yes or no)


Is it a good explanation?

13.
(Heard on National Public Radio)  Birds sing in the morning because it keeps other birds 
away, to announce their territory.


Inferential explanation?  (yes or no)


Claim being explained:


Explanatory claims


Causal?  (yes or no)


Is it a good explanation?

14.
Maria:
Why can’t my math teacher stick to the book?


Lee:
Because he’s a bad teacher.


Inferential explanation?  (yes or no)


Claim being explained:


Explanatory claims


Causal?  (yes or no)


Is it a good explanation?

15.
Dick:
Why did Suzy just get up and leave the class?


Tom:
Oh, she probably had to go to the bathroom.


Dick:
But then why was she crying?


Inferential explanation?  (yes or no)


Claim being explained:


Explanatory claims


Causal?  (yes or no)


Is it a good explanation?

16.
Lee:
Why did Mr. Johns, the owner of that fast-food restaurant where your mom 


works, lower prices on all the meals?


Suzy:
It’s because he’s got a good heart and wants poor people to be able to enjoy 


his food.


Zoe:
I don’t think so.  He was the one who opposed soup kitchens in town.


Suzy:
He’s just covering up.  He’s afraid of being thought a nice guy.  He can’t 


face his unconscious wish to be loved.


Inferential explanation?  (yes or no)


Claim being explained:


Explanatory claims


Causal?  (yes or no)


Is it a good explanation?

17.
Zoe:
I wish I could help Wanda.  What’s the reason for her weight problem?


Dick:
Gravity.


Inferential explanation?  (yes or no)


Claim being explained:


Explanatory claims


Causal?  (yes or no)


Is it a good explanation?

18.
Dogs eat meat because they are carnivores.


Inferential explanation?  (yes or no)


Claim being explained:


Explanatory claims


Causal?  (yes or no)


Is it a good explanation?

19.
Dick:
Darn.  My bread landed butter-side down.


Flo:
You buttered the wrong side of the bread.


Inferential explanation?  (yes or no)


Claim being explained:


Explanatory claims


Causal?  (yes or no)


Is it a good explanation?

Exercises for Section B

1.
a.
What is an independent explanation?


b.
What is a dependent explanation?

2.
a.
Give an associated argument of “Puff tries to catch mice because they are 

smaller than Puff and move fast, and cats are genetically predisposed to chase 

anything that is smaller than them and moves fast.”


b.
Give another associated argument for that explanation.


c.
Is either a good argument?


d.
Is the explanation independent or dependent?

3.
Give to a classmate two explanations to evaluate, one that is independent, and one 


that is dependent.

For the exercises below fill in the blanks.

4.
Flo:
Why do sunflowers always point towards the sun?


Suzy:
Because if they didn’t, we wouldn’t call them sunflowers.


Inferential explanation? (yes or no)


Claim being explained:


Explanatory claims:


Causal?  (yes or no)


Independent or dependent?

(If independent and it needs an associated argument to establish a premise, state it.  If dependent, supply additional premises if you can.)


Evaluation:
5.
Dick:
Why is Harry so depressed?


Zoe:
Because he didn’t get that summer intern job at the Adams Foundation.


Inferential explanation? (yes or no)


Claim being explained:


Explanatory claims:


Causal?  (yes or no)


Independent or dependent?

(If independent and it needs an associated argument to establish a premise, state it.  If dependent, supply additional premises if you can.)


Evaluation:
6.
Zoe:
Why did the lights go out?


Dick:
Because my eyes were hurting from the glare.


Inferential explanation? (yes or no)


Claim being explained:


Explanatory claims:


Causal?  (yes or no)


Independent or dependent?

(If independent and it needs an associated argument to establish a premise, state it.  If dependent, supply additional premises if you can.)


Evaluation:
7.
Suzy:  Why do classes last only 50 minutes instead of an hour?


Maria:  Because students need time to get from one class to another.


Inferential explanation? (yes or no)


Claim being explained:


Explanatory claims:


Causal?  (yes or no)


Independent or dependent?

(If independent and it needs an associated argument to establish a premise, state it.  If dependent, supply additional premises if you can.)


Evaluation:
8.
Zoe:
I can’t understand what’s happening with the garbage can.


Suzy:
What’s wrong?


Zoe:
I put it out on Sunday for the garbageman to pick up early Monday, and every 


Monday I find it’s been turned over and I have to pick up garbage that’s been 


strewn all down the street.


Suzy:
It’s cause where you live.  My grandma told me about it.  There are wee little 


leprechauns around here, in the woods, and they like to play tricks on people.


Inferential explanation? (yes or no)


Claim being explained:


Explanatory claims:


Causal?  (yes or no)


Independent or dependent?

(If independent and it needs an associated argument to establish a premise, state it.  If dependent, supply additional premises if you can.)


Evaluation:
9.
Flo:
Why should there be a “g” in earth?

 
Dick:
But there isn’t a “g” in “earth.”


Flo:
Why not?


Dick:
Why should there be a “g” in “earth”?


Flo:
That’s what I asked.


Inferential explanation? (yes or no)


Claim being explained:


Explanatory claims:


Causal?  (yes or no)


Independent or dependent?

(If independent and it needs an associated argument to establish a premise, state it.  If dependent, supply additional premises if you can.)


Evaluation:
Exercises for Chapter 16

1.
a.
What is the fallacy of inference to the best explanation?


b.
Give an example that you’ve heard or found on the Internet.  

2.
Why do we prefer to avoid teleological explanations?

3.
Go to a health food store and get a clerk to explain how some herb or medication works 
that’s sold there.  Analyze and present the explanation in class.

4.
Rewrite Example 34 as an inferential explanation.

For the exercises below fill in the blanks.

5.
Ellen DeGeneres is loved by more people than Jerry Springer.  That’s why she gets paid 
more.


Explanation?  (yes or no)


Claim being explained:


Claim(s) doing the explaining:


Inferential (yes or no)?


Independent or dependent?

(If independent and it needs an associated argument to establish one of the explanatory claims, state it.  If dependent, supply additional explanatory claims if you can.)


Causal?  (yes or no)


Teleological?  (yes or no)


If teleological, if possible rewrite it as inferential.


Evaluation:
6.
Why are there valves in our veins?  So the blood can flow only one way in them.


Explanation?  (yes or no)


Claim being explained:


Claim(s) doing the explaining:


Inferential (yes or no)?


Independent or dependent?

(If independent and it needs an associated argument to establish one of the explanatory claims, state it.  If dependent, supply additional explanatory claims if you can.)


Causal?  (yes or no)


Teleological?  (yes or no)


If teleological, if possible rewrite it as inferential.


Evaluation:
7.
Flo:
What makes dogs chase cats?


Dr. E:
Cats are Satan’s emissaries on earth.  Dogs, the protectors of the way of 

righteousness, sense this and try to rid the world of them.


Flo:
But then why does Fido get along with Puff?


Dr. E:
Some cats have tried to redeem their souls, and dogs encourage them in 

the way of righteousness.


Zoe:
Thank you for your deep insight, Dr. E.


Explanation?  (yes or no)


Claim being explained:


Claim(s) doing the explaining:


Inferential (yes or no)?


Independent or dependent?

(If independent and it needs an associated argument to establish one of the explanatory claims, state it.  If dependent, supply additional explanatory claims if you can.)


Causal?  (yes or no)


Teleological?  (yes or no)


If teleological, if possible rewrite it as inferential.


Evaluation:
8.
Flo:
Why do dogs like cats so much?


Suzy:
Because they’re both mammals.


Explanation?  (yes or no)


Claim being explained:


Claim(s) doing the explaining:


Inferential (yes or no)?


Independent or dependent?

(If independent and it needs an associated argument to establish one of the explanatory claims, state it.  If dependent, supply additional explanatory claims if you can.)


Causal?  (yes or no)


Teleological?  (yes or no)


If teleological, if possible rewrite it as inferential.


Evaluation:
9.
In many states the letter “O” is not used in license plates.  Why?  Well, it could easily be 
confused with the numeral “0”.  By not using the letter, there is a better chance that 
recording and reporting of license plate numbers will be accurate.


Explanation?  (yes or no)


Claim being explained:


Claim(s) doing the explaining:


Inferential (yes or no)?


Independent or dependent?

(If independent and it needs an associated argument to establish one of the explanatory claims, state it.  If dependent, supply additional explanatory claims if you can.)


Causal?  (yes or no)


Teleological?  (yes or no)


If teleological, if possible rewrite it as inferential.


Evaluation:
10.
Lee:
Why did your great uncle go to fight in Vietnam?  


Maria:
He had no choice, he was drafted.


Explanation?  (yes or no)


Claim being explained:


Claim(s) doing the explaining:


Inferential (yes or no)?


Independent or dependent?

(If independent and it needs an associated argument to establish one of the explanatory claims, state it.  If dependent, supply additional explanatory claims if you can.)


Causal?  (yes or no)


Teleological?  (yes or no)


If teleological, if possible rewrite it as inferential.


Evaluation:
11.
Lee:
Why did your grandfather go to fight in Vietnam?  


Tom:
He wanted to do his duty for his country.


Explanation?  (yes or no)


Claim being explained:


Claim(s) doing the explaining:


Inferential (yes or no)?


Independent or dependent?

(If independent and it needs an associated argument to establish one of the explanatory claims, state it.  If dependent, supply additional explanatory claims if you can.)


Causal?  (yes or no)


Teleological?  (yes or no)


If teleological, if possible rewrite it as inferential.


Evaluation:
12.
Lee:
Why did your grandfather go to fight in Vietnam?  


Manuel:
Because some old Anglos in power decided to send our boys over there 

to be killed.


Explanation?  (yes or no)


Claim being explained:


Claim(s) doing the explaining:


Inferential (yes or no)?


Independent or dependent?

(If independent and it needs an associated argument to establish one of the explanatory claims, state it.  If dependent, supply additional explanatory claims if you can.)


Causal?  (yes or no)


Teleological?  (yes or no)


If teleological, if possible rewrite it as inferential.


Evaluation:
13.
Lee:
Why don’t you support affirmative action for entry to universities?


Tom:
Because the minorities in this country have it too easy already.


Explanation?  (yes or no)


Claim being explained:


Claim(s) doing the explaining:


Inferential (yes or no)?


Independent or dependent?

(If independent and it needs an associated argument to establish one of the explanatory claims, state it.  If dependent, supply additional explanatory claims if you can.)


Causal?  (yes or no)


Teleological?  (yes or no)


If teleological, if possible rewrite it as inferential.


Evaluation:
14.
Suzy:  Why are students required to take a foreign language to get a degree here?


Prof. Zzzyzzx:  Because the faculty senate passed the regulation.


Explanation?  (yes or no)


Claim being explained:


Claim(s) doing the explaining:


Inferential (yes or no)?


Independent or dependent?

(If independent and it needs an associated argument to establish one of the explanatory claims, state it.  If dependent, supply additional explanatory claims if you can.)


Causal?  (yes or no)


Teleological?  (yes or no)


If teleological, if possible rewrite it as inferential.


Evaluation:
15.
Zoe:
Why don’t they require university professors to take courses on how to teach?


Dr. E:
Because by the time someone gets a Ph.D. he already knows how to teach well.


Explanation?  (yes or no)


Claim being explained:


Claim(s) doing the explaining:


Inferential (yes or no)?


Independent or dependent?

(If independent and it needs an associated argument to establish one of the explanatory claims, state it.  If dependent, supply additional explanatory claims if you can.)


Causal?  (yes or no)


Teleological?  (yes or no)


If teleological, if possible rewrite it as inferential.


Evaluation:
16.
Zoe:
Why don’t they require university professors to take courses on how to teach?


Maria:
Because they want to make our lives miserable.


Explanation?  (yes or no)


Claim being explained:


Claim(s) doing the explaining:


Inferential (yes or no)?


Independent or dependent?

(If independent and it needs an associated argument to establish one of the explanatory claims, state it.  If dependent, supply additional explanatory claims if you can.)


Causal?  (yes or no)


Teleological?  (yes or no)


If teleological, if possible rewrite it as inferential.


Evaluation:
17.
Zoe:
Why don’t they require university professors to take courses on how to teach?


Harry:
Because the professors are too powerful and entrenched, and the administration 

can’t overcome their resistance to it.


Explanation?  (yes or no)


Claim being explained:


Claim(s) doing the explaining:


Inferential (yes or no)?


Independent or dependent?

(If independent and it needs an associated argument to establish one of the explanatory claims, state it.  If dependent, supply additional explanatory claims if you can.)


Causal?  (yes or no)


Teleological?  (yes or no)


If teleological, if possible rewrite it as inferential.


Evaluation:
18.
Why is there so much evil in the world?  The world is too complex for us to understand.  
Only God can see all.  He has surveyed all possible ways the world could be and has 
chosen this one, the actual world, because in it there is the least evil.  If He had made 
the world differently, there would be more evil, not less.


Explanation?  (yes or no)


Claim being explained:


Claim(s) doing the explaining:


Inferential (yes or no)?


Independent or dependent?

(If independent and it needs an associated argument to establish one of the explanatory claims, state it.  If dependent, supply additional explanatory claims if you can.)


Causal?  (yes or no)


Teleological?  (yes or no)


If teleological, if possible rewrite it as inferential.


Evaluation:
19.
—Why is Spot crouching in front of that hole?


—So he can catch a mouse.


Explanation?  (yes or no)


Claim being explained:


Claim(s) doing the explaining:


Inferential (yes or no)?


Independent or dependent?

(If independent and it needs an associated argument to establish one of the explanatory claims, state it.  If dependent, supply additional explanatory claims if you can.)


Causal?  (yes or no)


Teleological?  (yes or no)


If teleological, if possible rewrite it as inferential.


Evaluation:
20.
Lee:
Why is the mouse trap gone?


Maria:
None of us took it.  And it’s in a really inaccessible place here in the attic.  



It must be because a mouse got trapped but not killed and dragged it away.


Explanation?  (yes or no)


Claim being explained:


Claim(s) doing the explaining:


Inferential (yes or no)?


Independent or dependent?

(If independent and it needs an associated argument to establish one of the explanatory claims, state it.  If dependent, supply additional explanatory claims if you can.)


Causal?  (yes or no)


Teleological?  (yes or no)


If teleological, if possible rewrite it as inferential.


Evaluation:
21.
How do we catch colds?  Well, cold viruses are around us all the time, in the air, 
in the water, we even carry them in ourselves.  Only sometimes do we get colds, 
and that happens when we unconsciously wish to be sick.


Explanation?  (yes or no)


Claim being explained:


Claim(s) doing the explaining:


Inferential (yes or no)?


Independent or dependent?

(If independent and it needs an associated argument to establish one of the explanatory claims, state it.  If dependent, supply additional explanatory claims if you can.)


Causal?  (yes or no)


Teleological?  (yes or no)


If teleological, if possible rewrite it as inferential.


Evaluation:
22.
Dr. Smyrn: 
Now for checking your heart.  Do you feel that?

Dr. E:

Ow!  Sure.  But what has pricking my finger got to do with heart disease?

Dr. Smyrn:
The heart is on the left side of the body, and in heart attacks the victim will normally get a pain in his left arm.


Dr. E:
Gee, that hurts, too.

Dr. Smyrn:
I believe that we can predict heart disease by testing the little finger of the left hand for pain sensitivity.  So I compare reactions to pricking the little finger of the left hand to pricking other fingers.


Dr. E:
Really?  Ouch.  That sounds wacky.

Dr. Smyrn:
I have been sending patients with unusual sensitivity in that finger to a cardiologist to follow up.


Dr. E:
And?  Ow!

Dr. Smyrn:
So far he has found indications of heart disease in only 2 of the 32 people I have sent.  But that is because my test is more sensitive than his.  I can spot that there is incipient heart disease before any other known test.


Explanation?  (yes or no)


Claim being explained:


Claim(s) doing the explaining:


Inferential (yes or no)?


Independent or dependent?

(If independent and it needs an associated argument to establish one of the explanatory claims, state it.  If dependent, supply additional explanatory claims if you can.)


Causal?  (yes or no)


Teleological?  (yes or no)


If teleological, if possible rewrite it as inferential.


Evaluation:
